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MARKET STRUCTURES
Market structure refers to the organizational and other characteristics of a market. We focus on those characteristics which affect the nature of competition and pricing and traditionally, the most important features of market structure include the following: the number and size of the firms in the market, the ease with which firms may enter and exit the market, the degree to which firms' products are differentiated, and the amount of information available to both buyers and sellers regarding prices, product characteristics, and production techniques.
Summary of market structures
	Characteristics
	Perfect Competition
	Monopolistic
competition 
	Oligopoly
	Monopoly

	Number of firms
	Many
	many
	Few
	One

	Type of product
	Homogenous
	differentiated
	Either identical or Differentiated
	unique

	Ease of entry and exit
	Easy 
	Easy 
	Difficulty 
	Impossible 

	Pricing
	Price taker
	Moderate influence on price
	Price maker
	Price maker

	Level of advertisement
	None 
	High and persuasive
	High and persuasive
	Only informative

	Degree of collusion
	None 
	To some degree
	High 
	

	Examples 
	Agricultural crops
	Local retail shops
	Auto markets/ fuel companies
	Local utilities e.g. Umeme






Perfect Competition
In a perfectly competitive business market, all participants are basically on an equal footing.
Conditions for Perfect Competition
There are many market participants i.e. buyers and sellers.
A fundamental characteristic of competitive markets is the presence of numerous buyers and sellers in the market. The greater number of buyers and sellers that exist, the less bargaining power buyers and sellers have. For example, if one seller of wheat attempts to increase its profits by raising the price of its wheat, the buyers in the market will simply buy wheat from one of the numerous competitors.
Price taking behavior
The buyers and sellers in these markets are price takers i.e. they are too small to influence the market price as individual buyers and sellers. A price-taker cannot control the price of the good it sells; it simply takes the market price as given. When there are many firms, all producing and selling the same product using the same inputs and technology, competition forces each firm to charge the same market price for its good. Because each firm in the market sells the same, homogeneous product, no single firm can increase the price that it charges above the price charged by the other firms in the market without losing business. It is also impossible for a single firm to affect the market price by changing the quantity of output it supplies because, there are many firms and each firm is small in size
Buyers are also too many for one individual to influence price.
Free Exit or Entry
Barriers to entry or exit are market or industry conditions that make it difficult to enter or leave an industry. A barrier to entry might be a limited number of liquor licenses in a particular city. One reason for so many competitors in competitive markets is that competitive markets have very few, if any, barriers to entry or exit.


Homogeneous Products
One reason sellers have very low bargaining power in a competitive market is that the products or services in such markets are homogeneous. Commodities such as wheat, corn and oil are often used as examples of homogeneous products. Once products start to become more differentiated, the market becomes less competitive
The firms in these markets do not incur advertising costs since information on market conditions is freely available.
The demand curve of perfectly competitive firm is horizontal i.e. P=AR=MR=D See diagram of market demand curve to be illustrated and discussed in class
There is perfect mobility of factors of production eg land, labor, capital, entrepreneurship are all mobile from one firm to another.
There is perfect information on the part of buyers and sellers regarding prices, product quality


Demand in a Perfectly Competitive Market
The demand curve, average revenue, and marginal revenue curve of a perfectly competitive firm.
So long as price is constant as it is in a perfectly competitive market, it will be equal to average revenue and marginal revenue.
Proof: 

The demand curve for the output of an individual firm, and the demand and supply curves for a perfectly competitive market are illustrated as below. 
Illustration: 
	

		

	




	

	


The demand curve for the market, which includes all firms, is downward sloping, while the demand curve for the individual firm is perfectly elastic, reflecting the fact that the individual firm takes the market price, P, as given. The difference in the slopes of the market demand curve and the individual firm's demand curve is due to the assumption that each firm is small in size. No matter how much output an individual firm provides, it will be unable to affect the market price.
 Note that the individual firm's equilibrium quantity of output will be completely determined by the amount of output the individual firm chooses to supply. 

Definition of some concepts

Total revenue (TR) 
Total revenue is the total receipts of a firm from the sale of any given quantity of a product.
It can be calculated as the selling price of the firm's product times the quantity sold, i.e. total revenue = price × quantity, or letting TR be the total revenue function: 

TR is a linear function and it passes through the origin. This is because price is constant.
Illustration: 


Average revenue (AR)
This is revenue received per unit of output sold. This calculated as 
AR is equal to price
Proof:

Marginal revenue (MR)
This is the additional revenue received from selling an additional unit of output.

MR is also equal to price (proof)

Total cost (TC)
This is the total expenditure on output produced.

Marginal cost (MC)
This is the additional cost of producing an extra unit of output.

TR and MR curve of a firm under perfect competition
Profit maximization 
In the short run, a firm under perfect competition attains equilibrium at a point where MC=MR, but when MC is rising.
The determination of the price in the SR is illustrated below; a firm may earn profits or incur losses.

Equilibrium of A firm making profits in the SR


Equilibrium of A firm making losses in the SR



Pricing in the Long Run/long run equilibrium
Due to free entry and exit, in the long run other firms are attracted to the industry when abnormal profits are made and this leads to an increase in output but since the market demand has not changed, the increase in output will push down the price hence a fall in profits. Still an increase in the number of firms raises, competition for inputs increases hence raising their prices or average cost. This causes the average cost curve to shift upwards. 
On the other hand, when losses are made some firms leave the industry leading to a reduction in the market output hence a rise in the price reducing the losses. 
At equilibrium, long run marginal cost is equal to long run marginal revenue (LMC=LMR). In the long run, firms earn only zero or normal profits.
Illustration






MONOPOLY
This is a market structure where there is only a single producer of a commodity with no close substitutes.
Conditions for Monopoly
In a monopoly market there is only one firm, which is large in size. This one firm provides all of the market's supply. Hence, in a monopoly market, there is no difference between the firm's supply and market supply. 
The following are the conditions that characterize a monopoly market structure.
1. First, there is only one firm operating in the market.

2. Barriers to entry
There are high barriers to entry. A barrier to entry is anything that prevents firms from entering a market. These barriers are so high that they prevent any other firm from entering the market. 
3. Third, there are no close substitutes for the good the monopoly firm produces. Because there are no close substitutes, the monopoly does not face any competition. 
4. The goal of the firm is profit maximization
5. Entry into the industry is blocked
6. Only carry out informative advertisement
7. The demand curve is downward sloping
8. The firm earns abnormal profit both in the short run and the long run
9. The firm is a price maker
Barriers to entry
Some of the more common barriers to entry are:
 Patents: If a firm holds a patent on a production process, it can legally exclude other firms from using that process for a number of years. If there are no other production processes that can be used, the firm that holds the patent will have monopoly power. 
Large start-up costs: In some markets, firms will face large start-up costs—for example, the cost of building a new production facility. If these start-up costs are large enough, most firms will be discouraged from entering the market. 
Limited access to resources: A monopolistic market structure is likely to arise when access to resources needed for production is limited. The market for diamonds, for example, is dominated by a single firm that owns most of the world's diamond mines. 
Natural monopolies: Not all monopolies arise from these kinds of barriers to entry. A few monopolies arise naturally, in markets where there are large economies of scale. For example, a local telephone company's marginal and average costs tend to decline as it adds more customers; as the company increases its network of telephone lines, it costs the company less and less to add additional customers. Hence, in the market for local telephone services, there can be only one firm; competition will not naturally arise. Gas, electric power, and other local utilities are also examples of natural monopolies. 
The demand curve for a monopoly firm
Because a monopoly firm is the market's only supplier, the demand curve the firm faces is the market demand curve. Recall that the market demand curve is downward sloping, reflecting the law of demand. The fact that a monopoly firm faces a downward-sloping demand curve implies that the price expected for this firm’s its output will not remain constant as output increases. The firm cannot control both price and quantity at the same time. If he sets price, the quantity to be bought is decided by the consumers; and if he fixes quantity to be sold, price will be determined by the consumers.
Illustration of the demand curve of a monopoly firm


TR and MR Curves of a monopolist
MR is less than price and declines for all levels of output because for each additional unit of output, the firm has to sell it a lower price than the previous one. This implies that price has to be reduced on all the units sold. The MR has the same intercept as the demand curve but its slope is twice that of the demand curve.
Illustration:

[bookmark: duffy3241c11-tbl-0001]Sources of monopoly (to be discussed in class)
1. Existence of patent rights
2. Huge initial capital requirements
3. Distance between producers
4. Foreign trade barriers
5. Merging of firms
6. Considerable product differentiation
7. Ownership of strategic raw materials
8. Through government acts- e.g. local utilities

Profit Maximization
The monopolist's profit maximizing level of output is found by equating its marginal revenue with its marginal cost, which is the same profit maximizing condition that a perfectly competitive firm uses to determine its equilibrium level of output. Indeed, the condition that marginal revenue equal marginal cost is used to determine the profit maximizing level of output of every firm, regardless of the market structure in which the firm is operating. 
Short Run Equilibrium
Monopoly firms make abnormal profits both in the short run and long run. At equilibrium, MC=MR.
Illustration of short run equilibrium



Long Run Equilibrium
The decision rules regarding optimal output are the same in the LR as in the SR. In the LR however; a monopolist gets an opportunity to expand the size of its firm with view to enhance its long run profits. The firm might however decide to produce at excess capacity just like in the short run; at optimum or produce beyond
Illustration

Price discrimination
This is the act of selling the same commodity at different prices to different customers even when the cost of production is the same. 


Forms of price discrimination: 
1. Discrimination according to geographical location
2. Discrimination according to income
3. According to age
4. According to sex
5. According to time
Conditions for price discrimination:
1. Markets should be separable
2. Different markets should have different elasticity of demand
3. It should be impossible for buyers to transfer commodities from the market where price is low to where it is high

Personal reading: implications of monopoly power in an economy
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This is a market structure in which a large number of sellers sell differentiated products which are close but are not perfect substitutes for one another.
Features of monopolistic competition:
1. Many producers in the market
2. Free entry and exit
3. Firms deal in differentiated commodities
4. The goal is profit maximization
5. Firms carry out persuasive advertisement since products are differentiated
6. The firm is assumed to behave as if it knows its demand and cost curves with certainty.
7. The long run consists of a number of identical short run periods which are assumed to be independent of each other in that decisions in one period do not affect future periods and are not affected by past decisions.
Profit maximization both in the short run and long run
OLIGOPOLY
 An oligopoly is a market dominated by a few producers, each of which has control over the market. It is an industry where there is a high level of market concentration. The concentration ratio measures the extent to which a market or industry is dominated by a few leading firms. 
Characteristics of an oligopoly
There is no single theory of how firms determine price and output under conditions of oligopoly. If a price war breaks out, oligopolists will produce and price much as a perfectly competitive industry would; at other times they act like a pure monopoly. But an oligopoly usually exhibits the following features:
1. Product branding: Each firm in the market is selling a branded (differentiated) product
2. Entry barriers: Significant entry barriers into the market prevent the dilution of competition in the long run which maintains supernormal profits for the dominant firms. It is perfectly possible for many smaller firms to operate on the periphery of an oligopolistic market, but none of them is large enough to have any significant effect on market prices and output
3. Interdependent decision-making: Interdependence means that firms must take into account likely reactions of their rivals to any change in price, output or forms of non-price competition. 
4. Non-price competition: Non-price competition is a consistent feature of the competitive strategies of oligopolistic firms. Examples of non-price competition includes:
a. Free deliveries and installation 
b. Longer opening hours (e.g. supermarkets and petrol stations)
c. Branding of products and heavy spending on advertising and marketing
d. Extensive after-sales service
e. Expanding into new markets plus diversification of the product range
Profit maximization both in the short run and long run
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